2.6 Keep in Touch with the Dutch.
Recently I drove in The Netherlands and I saw a road sign that indicated: Venlo 31 km,
FEindhoven 39 km. Not knowing anything else, what is the minimum and what is the maximum
distance (approximately) between these two towns.
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Problem 2.6

You are given the distances to Venlo (31 km) and Eindhoven (39 km), but you are
not given any information concerning the directions to these cities. The greatest distance
between the two cities is 31 km + 39 km = 70 km. This occurs when the two cities are
in opposite directions. The shortest distance between the two cities is 39 km - 31 km =
8 km. This occurs when the two cities are in the same direction. The actual distance is
47 km, which is greater than 8 km and less than 70 km.
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